Lightning round notes

Runner should change every 20 minutes - exercise is good for all!
Runner always sets off to the back of their column of teams FIRST.
Correct attempt 1=3 points. Correct attempt 2=2 points. 1 point thereafter.

Teams may pass after at least 3 attempts, that question cannot then be returned to.

To determine rank when final points are tied, the number of passes is considered.
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walks, and they both take the shortest possible path.

How much shorter is the path for the flying bug than the walking bug?
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This pattern continues forever. What is the total distance the ant travels?
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Let a(t) = cos®(2t) be the acceleration at time ¢ of a point moving on a straight line.

Attimet = 0, the point has velocity v = — 2.Find its velocity attimet = 2.

Write your answer in the form: a sin(b) + c.
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Roger and Rafael play in a tennis tournament. To win the match, a player must win 3 sets.

Roger wins the first set. For the sets that follow, if each player has a fifty-fifty chance of winning a set, what is the
probability that Roger wins the match?
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The sides of a parallelogram measure 3 and 8. The shorter diagonal measures 8. Find the length of the longer
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Beyonce, Kelly, and Michelle walk around a circular track. They take, respectively, 9, 12, and 14 minutes to walk each
lap. If they start at the same time from the same place, how many minutes into the walk will they be at the same spot
on the track again?
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